Higher Grade - Paper 1 2008/2009
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! Give | mari for each *® ! Ilustration(s) for awarding each mark

!

i
= a
- 2i(a) anms P(Z.4) {4 marks} |
! i i
| |
| [ , N . R N ! 1 dv
| e knowstomake derivative equal 10 0 e — =0
L T
e | e —=6x-3x"=U
i z
‘= 23 |
{ ~
Le 1x(2-x)=0x=0.2
4 . ~ ! 4 . N
e stares coordinates of P e P4
g |
(by ans: Qi-1.4) (3 marks) |
| |
| &' knows to equate functions L e 3x —x =4
© uses app method to factorise expression | € evidence leading to (x = 2)(x — 2}x -+
| e solves and states coordinates of Q | -1 4
1 H I
|
I a2 p S .
(¢) | amst 67 umits (6 marks} |
! 5 f
1 %
| i P . . i 1 ¢ |
| | e knows to use integraton L e forreenes
| z | A
} a . . .I o g‘: ; P
s | & uses correct integration L e L (4-(0Cx —x Yyl
i | - { =] )
s I, i E

: . s : ; k F- 4 a0
e simplifies e | (4—3x" +x7)dx

¢ integrates

*

| : g
| I !
] |
‘; e subsvalues I e
i | % i
i i N . H é
5 - & evaluates e
| ‘
| , |
L 22(a) ans: p=LgT- 4, 7r=3 (4 marks) |
| "‘ e | £ty = (7 2 |
| | ® suDsLiues i & flglaly =2~ aye —1
! | 5 o ) ) | __— - N R
; | e multiphes outand recrgantses | e d-dava - =g —4a+> »,
; | e states values of p,gandr E e p=l.g=-4r7 3
H i 4 . ~ . t 4 P ~ s
3 | e states values of pgandr % e’ award | mark for any two correct and |
‘ I mark for third value correct |
| (b)  apst @7 5 (2 marks) |
i z z
| o
] , . - . ! .oaT —4a+i=8 g —40-5=10
e equales to &, reorganises and factorises | e
¢ 1
| (a—Ma+1=0 *

|
|
|
|

B

solves and chooses correct vaiue for a | e ag=0




Give 1 mark for each ®

Liiustration(s) for awarding each mark

23 ans:

Clim 1 .
Al s =) {4 marks)
122 \

sguates line & curve, reorganises

Yok

¢ sinly+l=-—:sinlyx=-—
} g

T ey ~ 2 A T 1z
e finds values for 2x & Ix=-—
6 6
s . - 5 Tz tirx
¢ finds values for x & y=——, —
1212
) Tim
e  suates coordinates of A € A 3 =)
24(ay | ams: 60 (2 marks}
24
€ knows how to find limit € L=—
1-0-6
- e e 2
¢°  moves term to LHS and divides e 60

(b} ans:

{c) ans: a=-—:1bh=236

16 ‘ (2 marks)

makes RR equal to 30

solves for Uy

s
tad

marks)

subs for & and finds expression for limit
equates limit 1o 60 and solves for a

finds value of &

1

e 0 6Uy + 24 = 30 [stated or implied]
e 0-60U,=6101,=10

S0

L a2 90s T =
& U, =al, +90a: L=-
I—a
7 g{f& P . z
e - =60 60-600=90a;, 0=
i—a




